Negative Zahlen Variante 6 Klasse: Datum:

Subtraktion bis 100 Blatt 38 Name:

@ a) ( +50) _ ( . 40) = b) ( - 23) - ( +39) =
C) ( _ 92) - ( _ 80) =1 d) ( +28) - ( - 49) ol N
©) (s6) - (425 = D (amy - en =

@ a) (+34) - (-32) = b) (-35) - (+64) =
c) (-77) - (-26) = d) (+24) - (-55) =
e) (-60) - (+21) = ) (-69) - (-72) =

3  a (+59) - (-24) = o) (L23) - (471) =
9 (e5) - (-31) = Vw20 - (52 =
e) (-38) - (+25) = f) (-58) - (-62) =

@ a) (+69) - (-22) = b) (-21) - (+66) =
) (19 - (30 = RGN GO RS
e) (-60) - (+34) = ) (-50) - (-70) =

@ a) (+67) - (-27) = b) (-28) - = -84
€) - (-37) = -41 d) (+31) - (-38) =
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Negative Zahlen Variante 6

Subtraktion bis 100 Blatt 38

@ a) ( +50) _ ( . 40) =190 b) ( - 23) - ( +39) = -ba
C) (_92) - (_80) = -12 d) (+28) - ('49) =\ .1
©) (s6) - (+25) = 51 D (amy - (o1 = 23

@ a) (+34) - (-32) = 66 b) (-35) - (+64) = -99
c) (-77) - (-26) = -51 d) (+24) - (-55) = 79
e) (-60) - (+21) = -8l ) (-69) - (-72) = 3

3  a (+59) - (-24) = 83 O) (L23) - (+71) = 04
) (e5) - (-31) = 34 Vo(w20) - (52 = 78
e) (-38) - (+25) = 63 f) (-58) - (-62) = 4

@ a) (+69) - (-22) = 91 b) (-21) - (+66) = -87
9 (79 - (-39 = a9 REC ORI CURE S
e) (-60) - (+34) = -94 ) (-50) - (-70) = 20

@ a) (+67) - (-27) = 94 b) (-25) - (+59) = -84
© (-78) - (-37) = -41 DV o(va1) - (-38) = 69
€) (-20) - = -54 0 - (-99) = 24
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